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QUESTION 1
Which statement accurately describes the characteristics of an alert notification?

A. Notifications are configured out-of-the-box but need to be explicitly enabled for each object
discovered by vRealize Operations.

B. A SMTP Management pack is required to enable email notifications.
C. Notifications are configured as part of an alert's symptom definition.
D

. VRealize Operations can be connected to the external alert naotification system by configuring an
outbound alert plug-in.

Answer: D

Explanation:

You can create an outbound plugin to send alert notification to external systems such as service
now, slack etc.

QUESTION 2
Which Grouping Option in vRealize Operations allows the configuration of Tiers?

Tags

Applications

Cloud Zones
Custom Datacenter

00>

Answer: B
Explanation:

https://lwww.vmwareopsguide.com/dashboards/chapter-9-other-dashboards/3.9.2-multi-tier-
applications/

QUESTION 3
Which cloud provider needs to be added as a custom cloud provider when running a What-If
Analysis?

IBM Cloud
Google Cloud
Microsoft Azure
Oracle Cloud

00>

Answer: D

Explanation:

What-If Scenarios:

- Hardware Procurement and Decommission

- VSAN/HCI Planning Scenarios

- Migration to VMware Cloud on AWS, AWS, Azure, Google, IBM, or VMware Partner Connect
Program Partners, and Custom Clouds

QUESTION 4

An administrator is planning the size of a new vRealize Operations Manager (VROps) platform
using the vROps sizing tool. The output of different configurations and sizing information from the
tool were modeled for internal design discussion.

Refer to the exhibit:
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Our Recommandation
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e
Which configuration was sized?
High Availability
Continuous Availability

Stretched Cluster
Fault Tolerance

00w

Answer: B

QUESTION 5

An administrator is using vRealize Operations for capacity modeling to determine how many more
ESXi servers are needed to increase time remaining and capacity remaining score.
What can be used to accomplish this goal?

What-If Analysis
Rightsizing

Operations Overview
Workload Optimization

00>

Answer: A
Explanation:

https://docs.vmware.com/en/vRealize-Operations/8.10/com.vmware.vcom.core.doc/GUID-
2D2A0CA2-FA40-4D15-AC1B-C2435A63E33A.html

QUESTION 6

An administrator has been tasked with making sure that the existing vRealize Operations
Manager instance can monitor a newly deployed vSAN cluster within an existing vCenter Server.
Which action should the administrator take to accomplish this goal?

A. Add vSAN cluster under Other Accounts.
B. Enable vSAN monitoring under existing vCenter Server Cloud Account.
C. Download and install vRealize Operations Management Pack for vSAN.
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D. Add vSAN cluster under Cloud Accounts.

Answer: B

Explanation:
https://docs.vmware.com/en/VMware-Validated-Design/services/deployment-of-vrealize-suite-
2019-on-vmware-cloud-foundation-310/GUID-5CE0A813-F559-425D-AFB8-
47ACF2CABBEA.html

QUESTION 7

A company has just acquired a competitor with a vSphere environment and would like to have the
new vSphere environment also monitored by the company's original three-node vRealize
Operations cluster. The vRealize Operations Sizing tool determines two additional data node, and
a remote collector needs to be added to the vRealize Operations cluster.

The nodes are deployed accordingly, and the administrator now needs to create a trust
relationship between the cluster and each of these new nodes.

Which two methods will meet this goal? (Choose two.)

A. Generate passphrases in the administration User Interface of an existing node, and enter them
when prompted in each new node.

B. Click the Add New Nodes button on the Cluster Management page in the product User Interface
of an existing node.

C. Use any local or directory user with the Administrator role in vRealize Operations when prompted
in each new node.

D. Click the Add New Nodes button on the System Status page in the administration User Interface
of an existing node.

E. Use the vRealize Operations root user name and password when prompted in each new node.

Answer: AD
Explanation:
Passphrase and new nodes can ONLY be added from the Administration Ul.

QUESTION 8

An administrator wants to enable a custom metric configuration file to a scoreboard widget in a
dashboard, but after configuring it, the scoreboard does not show the new metrics at all.
Which scoreboard widget configuration option possibly caused this problem?

Refresh content set to On
Self Provider set to Off
Self Provider set to On
Refresh content set to Off

00>

Answer: D

Explanation:
https://docs.vmware.com/en/VMware-Aria-Operations/SaaS/Configuring-Operations/GUID-
464C4018-FFD3-4D4A-8D6F-EF70C9572289.html

QUESTION 9

An administrator has enabled the allocation model in a policy and set the CPU overcommit ratio
to 4:1 for all vSphere clusters in a vSphere datacenter.

Why would vRealize Operations report that the cluster has 0 days remaining when the actual
CPU overcommit ratio is less than the 4:1 configured value?
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A. The allocation model will always report zero remaining capacity when the actual ratio is less than
the configured ratio.

B. The allocation model does not account for powered off virtual machines.

C. The CPU demand in the cluster is less than the total CPU capacity.

D. The CPU demand in the cluster is greater than the total CPU capacity.

Answer: D

QUESTION 10

Which actions can be performed on vSphere virtual machine from vRealize Operations Product
UI? (Choose three.)

mTmoow»

Create virtual machine snapshot
Delete virtual machine snapshot
Move virtual machine

Add virtual disk

Expand virtual disk

Add vCPU

Answer: BCF

Explanation:
https://docs.vmware.com/en/vRealize-Operations/8.10/com.vmware.vcom.config.doc/GUID-
70DF9D94-3B43-4588-A77E-5D8501293F51.html

QUESTION 11
A user has access only to the vRealize Operations Product UI.
Which component will be available when they log in?

A
B
C.
D

Dashboards page
Software Update page
Certificate management
System Status page

Answer: A

QUESTION 12
What are the two required components of an alert definition? (Choose two.)

moow»

Symptom
Version

Node

Action
Recommendation

Answer: AE

Explanation:
https://docs.vmware.com/en/vRealize-Operations/8.10/com.vmware.vcom.core.doc/GUID-
CB68E83B-5BB5-46C1-AEBA-71D91CAE7675.html
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QUESTION 13

An administrator is using the troubleshooting workbench in vRealize Operations for
troubleshooting purposes.

Which other vRealize Suite product's data will be shown in this view when the integration is
configured?

vRealize Log Insight
vRealize Network Insight
vRealize Automation
vRealize Al Cloud

o0 wp

Answer: A
Explanation:
https://www.brockpeterson.com/post/troubleshoot-with-vmware-vrealize-operations

QUESTION 14
How is Business Intent applied to objects in vRealize Operations?

Groups
Policies
Tags
Roles

00>

Answer: C

Explanation:
https://docs.vmware.com/en/vRealize-Operations/8.10/com.vmware.vcom.core.doc/GUID-
5214192B-A4DB-42C5-8698-E577BAEEC71A.html

QUESTION 15

Within a large enterprise IT department, a member of the monitoring team has moved to another
role within the operations team. The administrator's user account was initially assigned the
PowerUserMinusRemediation role, but the PowerUser role has now been added by the helpdesk
team following the job change.

Which statement accurately describes the nature of this change?

A. The administrator will now be able to complete tasks associated with remediation actions.

B. The administrator will now be able to perform cluster management tasks but unable to complete
remediation actions.

C. The administrator will now be able to perform user management tasks and remediation actions.

D. The administrator will remain unable to complete tasks associated with remediation actions.

Answer: A

QUESTION 16

An administrator has been notified of a critical alert associated with a VMware vCenter cloud
account. The alert states that "Objects are not receiving data from adapter instance". The
administrator investigated the problem and resolved the underlying issue. The administrator now
needs to stop the alert from triggering again, unless the problem occurs in the future.

Which alert action should the administrator take to meet the criteria?
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Suspend

Cancel Alert

Release Ownership

Disable the alert in all polices

00>

Answer: B

QUESTION 17

Which three node configurations are supported during installation, according to vRealize
Operations Sizing Guidelines? (Choose three.)

Large
Small

Tiny

Very Large
Medium
No limit

nmmoow>

Answer: ABE
Explanation:
https://kb.vmware.com/s/article/91692

QUESTION 18

A customer is running a 4-node cluster for their Windows and Linux workloads. To keep the
licensing costs at a minimum, the customer only licensed two nodes for Windows and two nodes
for Linux within the cluster. Now, the administrator needs to ensure the workloads only run on
their assigned nodes.

What should an administrator configure to achieve this goal?

Operational Intent - Clusters
Business Intent - Clusters
Operational Intent - Hosts
Business Intent - Hosts

00>

Answer: D
Explanation:

https://blogs.vmware.com/management/2018/11/using-host-rules-with-business-intent-in-vrealize-
operations-7-0.html
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